9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

0 T 16 9 8 5 17
27 110
7 15 15
17 3 21
3 25 13 10 8
18 i 18 1 15 15
17 4
17 16 11
; i16 i8
17 30 7 15 6
6 18 18
13 10 5
12 9 11 13 25
17 8 7
15 4 13 14
32 8 9
8 10 13
14 | 18
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

512 (347 816|119
916 |73 |5 112 4]8
4 |8 116|923 5|7
315191124 |8|7]|6
2 /1 14181679 3|5
8|17 1619 3|51 ]2 |4
6 (4 |2 (7|8 |3]5]9]1
71915121 64|83
1 3181|5497 62
53,9174 |16 8|2
412, 115/8]6[9 7|3
7161819123541
64 5189|2137
819171113 514126
211 316,748,519
O/51412]6 |73 |18
1176135829 |4
3182141197165
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